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MATHEMATICS — 15" Week — 4™ Grade — Weekly Assighment

GROUP (A)
Find the quotient of: 162+ 3 = .........

Find the quotient of: 148 +4 = .........
Find the result of: 55 +21 X 3 = .......ccccceceerennnene
Find theresult of: (11 +4)+5-2 = ....ccceevveerrrrnene

Ahmed has 650 pounds. He spent 25 pounds and divides the rest
equally to 5 needy. Calculate the share of each one.

GROUP (B)
Find the quotient of: 195+ 5= .........

Find the quotient of: 822+ 6 = .........
Find the result of: 888 -31 x4 = .......ccccvuveereennne
Find theresultof: (18 +2)+2-1=.....cccoccvrrrerenne

Ahmed has 918 pounds. He spent 18 pounds and divides the rest
equally to 9 needy. Calculate the share of each one.

GROUP (C)
Find the quotient of: 114+ 2 = .........

Find the quotient of: 128+ 8 = .........
Find the result of: 55 + 60+ 6 = .....ccceeeevvuvnenenen.
Find theresultof: (12 +2) X2 -1 = .....cccceevvvuenenene

Ahmed has 840 pounds. He spent 30 pounds and divides the rest
equally to 3 needy. Calculate the share of each one.





